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Full Marks : 80
Pass Marks : 24

Time : 3 hours
The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A : Introductory Microeconomics

Q. No. 1 carries I mark each : 1x6= 6
Q. No. 2 carries 2 marks each : 2x6 = 12
Q. Nos. 3-6 carry 4 marks each : 4x4 = 16
Q. No. 7 carries 6 marks | : = 6
PART—B : Statistics for Economics
Q. No. 8 carries 1 mark each : 1x6= 6
Q. No. 9 carries 2 marks each : 2x6 = 12
Q. Nos. 10-13 carry 4 marks each : 4x4 = 16
Q. No. 14 carries 6 marks : = 6
Total = 80
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PART—A
Re—s

Ret—
qEAN—

( Introductory Microeconomics )

(TR wefRemms =157 )
(IR St =i )
( o’ vt i Remafer )
1. Answer the following as directed : - 1x6=6
woTe fHAART fATrpiR eg fian
ot RaiReste ey wie :
TR SHRGRA 5 8
(a) Define utility.
oo e faa |
ToicTifrer s e |
AR FHIETH B
(b) What is budget line?
AEHB 31 2
qAE @2
TarEsn e m?

(c) Draw a perfectly elastic demand curve.
o o RiSger om0 o 1 |
a5 <f RfSgrre vk cran et e |
< TR AR R dn giE) sy |
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(d) State the law of supply.
cIeTeE RIACH! w791 |

ceies R Sea e |
ST @i v’ |
(e) TC =TVC + ___ ‘
( Fill in the blank )
(SR o 3 )
( *FURR R IR )
( ST S A G )
() What isA meant by equilibrium price?
IR 71 e R @ 2
SIRPIN T TS @R 2
TR S8 geisen 7 gioEI?
2. Answer the following questions : 2x6=12
_ OO PR Teq o
fAafiRe emafr Ter e -
TR SRR R @

(a) Write two differences between micro- and macro-
economics. 2

IR S AR weffRemma Ao KB ol B |

IR q3R R SRR wou b il s

@ TEIY AR R TR Aa g A wReT RR)
Or / S%31 / W=[T / Gl

. State two characteristics of production possibility
curve. ' |

%«WWW@WW'WI
TR FYRTS! (IR b I Trard T |
fegug smuteT S wiE W g W |
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(b) Define : 1+1=2
wiges] ful
R 718 -
ﬁ‘ﬁ?v‘l’lﬂ 'ﬁ?l : '
i) M1croeconomlcs (i) Opportunity cost
B =R S IR
IR W@ e T
& TE T SR
Or / 5331 / S%{l/ &1

Write any two central problems facing an economy. 2
WA 43t SR 1 R I o1 R T o
<36 SYRIST TR e @ @A B T T A |
AR FETRAR Am-aiff ST SrEiastrn 193 e SRR

(c) State the law of diminishing marginal utilify. 2
TRPEF ST Sorcifrer Rigeh Sras 31 1 |
TP eifee Tecaiver R Sy e )
TR g3Re e @ W’ |

Or / 931 / &%[1/ w&r

A 20% fall in the price of a commodity leads to 25%

increase in demand. Calculate the. price elasticity of
demand.

T GO R 20% T WA oW 25% R I | SIRYR W
ffomerer siem 3991

G FAR WA 20%mmﬁamzs%qﬁmumﬂ
RfSwree s @1

SuTR WA 3 20% G 3 Rere 25%aiaa‘nﬁqmﬁ
SR AT WA g |
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(d) Define production function. Write one feature of it.
1+1=2

TR T I T | TR @B Iy o

TeoATTH FACR R WIS | 97 B (3BT ey | 7

g g (wmfy) i e @ A AR s fw
Or/WW/WW/@

Write two differences between fixed cost and variable
cost. 2

@WWWWW@WQI‘@W}
&R 9 3% RNt T T B N e
o T o Wiemrg @ s WY R R

(e) Define monopoly market. State one feature of it.
| 1+1=2

ammwmﬂmmnmaﬁm%ﬂ‘wu
OO IR FRI 718 | 7 3B L3 BT AN |
TR = grE o 8 ) A A smgemg v’
Or / 931 / 91 / q@&r
Write two assumptions of perfect competition. 2
o eifcaferEre Ieed 151 SRerRen Bt i |
ol af¥CTiAenER IrIcaR 4 SRR et |
g rafy g W s R
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() | Explain the chain of effects of excess supply on
equilibrium price.
T T OIS TRG ISIE R4 SR B M |
SRPI A TR SRS (IR *Rlfere doReE TR ¢ |
TREYTE S TEE SigE sEAEE Rk e @)

Or / &%31 / 9331/ &t
Distinguish between price ceiling and price floor.

TR % Him o i K Wws onefe B
WER T A 9 N R o e @
SR M R R mew Renf R few)

3. State and explain the law of demand with the help of a
demand schedule and a curve. 4

QWWWWWWWWWWW
Rkl

aﬁm&mwﬁa«aﬁmm%ﬁﬁﬁ@mm&
T FCA |

AR o wif R SR Tt s YemEE e @ rf@e g’ s
[@d|
Or / 91 / 91 / &

Define prlce elastlc1ty of demand. What are the methods of
measurlng price elasticity of demand? 1+3=4

mwﬁﬁmwamﬁmmwﬁﬁmmwm
o

sIRvE v RfSwrerer wikw we | vive W RfSwre yem e
A

it 38 e ge @) R 989 A gmEf sraen

L 11§
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4. Explain the law of variable proportion with the help of
diagram. y

RN wperre RS Bapre e <1 |

G Speire RRG B 2 v |
HiemaRy Fnh e et Y89

Or / |31 / 9931 / var

4

Define AP and MP. Write two relationships between
AP and MP. \ - 1+1+2=4

AP SI$ MP >k fall | AP I MPR % 1§51 575R6 o |

AP @R MPF @1 718 | AP @3 MP3 W¢% 45 57/ (o1edl |
APaﬁMPﬁ@qﬁmalAPaﬁMpﬁﬁarﬁthﬁaﬁa‘r%u

5. Discuss how the market supply curve is derived from the
individual supply curve. \ 4

RS (TR R (FATI TR QR @ @ IR 1R,
SIS 37 |

Wmmmmcm%mmmmqumm,
SICEASA I | |

Or / &% / &%31 / qar

Explain any four determinants of the market supply of a
commodity.

T ORI QIR R e SRS R o 91 1
b T IR NG T e Sl R D I |
gmﬁﬁﬁmmmmﬁmmmﬁﬁﬁm@é@m

/426 , [ Contd.



(8)

6. Explain freedom of entry’ and ‘exit of firms’ features of
.perfect competition. 4 -

of efscaierEe TS WWW wWﬁma
3BT 35 0

°1°f AfecienEe e ‘afeprsiE 1@ AN GRS AT -«
caerester pmam 3 |

ITRgeTEE e |

Or / SR[1 / S / &1
With the help of demand and supply schedule, explain the
meaning of excess demand and its effect on price of a

commodity. 3+1=4

wifEm = mmw@awwmwﬁwmmm
R SOITS O IO I 1 |

B GR @A PP A WRRE TR WY R @7 97 THAR
TR BT o1 2SR I I |

R ST IR FRAR YEE FiEE RAER i e AR Yuw
maf /R gEmE e Mo 98|

7. What is an indifference curve? What are its main
- properties? Explain. ' 4 2+4=6

fReers a1 R 2 X o CaRiErar R R 2 o
e @ §te qaamtaﬁ?mﬁ%%v-wmn
IR TG A W7 AN MEE ARGARHR W Y Sea|
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Or / 9931 / 9337 / W&

What is consumer equilibrium? Explain consumer
equilibrium in case of a single commodity with the help of
a utility schedule. © 1+5=6

TSR SRS 3 2 aﬁmmé%mwwmm

N, Srer Spia SRS T 4 |
CISISR SRSl R @I AR o oo SRSl $erw
TS 1 W, TACIVS! PR = 01 I3 |
WWW?MWWWW@WWW
e SRR Ywrmae 35T |
PART—B
Re—
Reto—y
TRE—
( Statistics for Economics )
(ST =R )
(weftafes «ifameent )
(et e areym fafam )
8. Answer the following questions : 1x6=6
OIY 2P el faa '
R eryefr Teg e
MM THEERRA e & .
(a). Who is known as the fathe;' of statistips?
P e i Rerr frg R w1 17 2
T IR iR Reaem e RoAics s 3 9
R g wrey RfaEn R fard fify s
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(b) Write any one importance of statistics in econormics.
RES AR R R <51 @ o |
SR ARRUF T (FIA > G 0 |
SR R R SrERewE A T R

(c) Write one difference between census and sample
survey. « :

e ST T TR0 T G511 o
TSN IR T TACT WG @i 2T AT |
ge wra! IR Ry st Ao A wre 'R

(d) What is the full form of NSSO?
NSSOTF 59 i1 3 2
NSSO-« 5= 7°(f6 §1 2
 NSSO-Fi a1 mEw e

(e) Find out the arithmetic mean from the following data :
TR SYPTE *R1 AfAfee s A 4
Rmere SApTR (¥ SR ors ey e
TeER ERERAER aFET-r TR g :
3,5 7,9, 11
() State one advantage of median.
TP 1 R Trwy 70
TR G370 R4 TCEY A |
e HHE E g AE |
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9. Answer the following questions : 2x6=12 h
O] PPIRY TeT f
fafeRe aafr Teg e |
TRt FigerR 5 o

(a) Write two characteristics of statistics. | 2
ARRYGT To1 CaiEy oren | | |
IR S GRSy corean R .
AHERYA A Amgag for)

Or / 54 / a1 /

Define statistics in plural and singular sense. 1+1=2
mwawwa!@ AfSFRYT e ot |

- 7 GIIRF G G o PRI eSS | _
SR AR TR Siifrre areeEt g @) |

(b) Write two differences between primary data and
secondary data. 2

mﬁaswwa@mﬁﬁw
T B ¥R (M e ﬂzmlii‘fs’nw CoTCHT |
R TR 3y Ay @Ry e Dy wrm Rwy

Or / &[T / &% / g
Mention two sources of secondary data.
¢ T YB1 TR W Sead 3:4q0 |
¢ e 1S B W Seme A |
%&Eﬁﬁlﬁﬁi@rﬁgw’}
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(c) What is bar diagram? State one feature of it. 1+1=2

we 57 & 7 TR 9br (3R Sway 91
e Ba o 97 g3 [XHE TeE @M |
<R S m? A A g W |

Or/ 9%q1 / 9%/ Tl

Define histograni and frequency polygon. 1+1=2

RPN wF IRQO! IR i |
BB GR IR OO TS| W8 |
'@mmmmmﬁwmg’@ma.

(d) Define arithmetic mean. Mention one property of the
arithmetic mean. 2

SRS s1os g fa | MRS ooy @bl (3R Beay 4
- 7 e sicwd TIER e | MRS SR G0 (AR STEY T |

wﬁwﬁﬁﬁ@ﬁg@ﬁmﬁlmﬂﬁﬁﬁﬁﬂ%wﬁ
p:ccl

Or / &3l / &% / T&n
Mention two main objects of an average.

o1 W31 4T ST ST N 1
SR 75 2y Srl BrE I |
rER (15 A e freife )

(e} Mention any two merits of mode. 2

Tored R I o1 SRY e T

TN (R I 76 R TCE I
Ty srafastan 993 @y 7E |
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| O/ W /
Write two uses of index number.
BT TR YB1 IS o1 |

PR RUR 46 IR T | |
HIRRY SARFTHERA W sTerAE Rl
() Mention two hnportaﬁces of correlation. : 2
TR W 8F S 91 |
TR 6 @we e I |
TRERAE Wi DY Tt wa’ |
Or / G311 / &[T / €&t

_What do you mean by index number of industrial
~ - production?

ST BRAT [ e Jercet T qerl 2
ST BeATCAR 5% Ak 0SB QWA 2
TR fegTeng SRR getear @ gimt?

10. What is diagrammatic presentation? Discuss the
usefulness and limitations of diagrammatic préesentation
of data. ' 1+3=4

Bl Sergrem R 2 S B Torgrerm ool s Sl e
901

B8 Sorgrem 17 weam B Sorerei SorpiRe) a3k TRl e
¥ |

A R A7 w R R e s R
Eaag |
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Or / &%l / &A1 / @&l

Define variable. Distinguish between discrete and
continuous variable. 1+3=4

vored e T | R vore o SRR 5o W o< (ryed |
5oER e wie | Rt o gk SiRfveR SRR We <1 wefie |

Aremregh TR A TW g4 Sereg TR AREE o g
orf wre RN

11. Define correlation. Mention the degrees of correlation.
1+3=4

Wﬂmﬁmnwwmn
mﬂmmnmw@mn
gﬁmmgﬁmanmmﬁm(ﬁmm@

|

Or / S%dl / §[T/ &1

Explain the meaning aﬁd importance of index number. 4
o3 P S W GFEd R 0 0 |
IpF AR Y GR FFCR R 001 I |
ERR R ofif R MR @R SEE)

12. What is scatter diagram? Give any three merits of it. :

Rfry B e 2 TR R @ Rt R fovan 1
R 57 = 12 @ @ @I o R coean )
IRy weR i 7? A SERgeEn dham g e
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Or / Q331 / 931 / Tt

Find out the value of Karl Pearson’s coeffiment of

correlation of the following :

©aq BYRINT wﬁﬁz«mw NP Nefg F91:

Rafeie SR (AT T PR sToms eake R 3@

e ERFwE el frmerf TR S Rk R

4

X 65 | 66 | 67 | 67 | 68 | 69

70

72 |

Y 67 | 68 | 65 [ 68 | 72 | 72

69

71

13. Write short notes on :

oy Cort ot

(e B orcat

3 g o |

{a) Consumer price index
TRSTER 7 IPIRS
TOTSIeR T o
ST o B

(b) Wholesale price index
R 79 PIRT
AP T IPIE
BRI o B

Or / 9331 / 9% / Q&

2+2=4

Point out four important limitations of index numbers. 4

R YR BRGNP Rzt Temy w41 1
ST SRYF SR SR Srwer Seay 1 |
WIRR S W MR Renfre v |
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14. What do you mean by central tendency? What are the
essentials of a good measure of central tendency? Explain.
1+5=6

@@aaawmqﬁmﬁs{mvw'f@@ammmmmmﬁ-
iz B &2 rm 390

@R fRUeR WM WS [ AR S (FER eRTeR W
AT T R 2 I/ A |
mmgﬁwmgﬁﬁ?mwmmﬁmwmﬁn
1 A7 SEd |

Or/W/WW/'Z"W

Calculate the arithmetic mean, median and mode from the
following frequency distribution : 2+2+2=6

o f RSl RereER ol AT o, T W I B 0
Rafis Tl Rerer (e sfe? o, FH @) T2 Wefi -

R

Class Interval Frequency
1T BT IS
IR ST RIITO!
T 918 A - TR

1-3 3
3-5 10
5-7 16
7-9 - 13 -
. O-11 8
11-13 e
13-15 . 1
%* % %
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